MTS Examination to GDS
AP Circle Date : 07-07-2013
Part - A - General Knowled ge

Multiple choice questions Marks : I5x1=15
Fill in the blanks
1. Constitution came into foree omn. { )
a) 20th Nov. 1949  b) 15th Aug 1947  b) 26th Jan 1930  d) 1st Jan 1952
2. The president of India is elected by ( )

a) Lok Sabha only b)) Rajya Sabha only ¢) State legislature only
d) Elected members of Lok Sabha, Rajva Sabha and of State Legislative Assemblies.

3. The supreme Commander of the Armed Forcesis { )
a) Field Marshal b) Chief of Army Staff' ¢) The président d) The prime Minister

4. If aman is denied Freedom of Movement, it meapselenial of ( )
a) Matural Liberty  b) Civil Liberty c) Political Liberty d) Economic Liberty
5. The Guardian of Fundamental Rights are " 1
a) The president B) The parllament
&) The prime minister d) supreme court and High courts.
6. The oldest Vedais ( ]
a) Rig veda b Yajur Veda ¢) Sama Veda d) Atharvana Veda
7. Alaxander the Great retumed home because [ 505
a) He was defeated by porus b) The soldiers become home sick
¢} Alaxander wastired of war d) Alaxander's fathers Philip called him back.
8. Dravpadi was thedaughterof ' ( )
a) Videha b} Drupada c) Kosalag d) Panchala
9. Thedormer name of state Bank of [ndia was ()
a) Central Bank of [ndia b) Imperial Bank of India
) United Bank of India d) People's Bank of India
10. The crop that is sown on the largest area in india is___ L)
a) Rice b} Wheat c) sugar cane d) maize
1. Faunais { }
a) Animal life of a region b) Plant life of a region
¢) study of oceanography d) Study of physics
12. Full moon occurs when { )

a) Earth is between the sun and the moon b) Moon is between the sun and the carth

€) Sun is between the earth and the moon d) None of these
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" Indian Standard Timie (1.5.T) is the local time of
2) Delhi b) Althabad ~ + - €) Chennai d) Kolkatta
Light year is a measurement of__ . {
a) voltage of generators b) Distance between stellar bodies
c) a;[:Fmd of rockets : d) speed of airplanes
The term “Nautical Mile” is used in__ | (
a) ships b) Airplanes ¢) cars d) Trains
The term *Deuce” is associated with___ (
a) tennis b) cricket ¢) football dy hockey
‘Oval’ stadium in England is associated with \ (
a) Polo b) Hogkey ¢) Football d) ericket
*Santosh Trophy’ is associated with___ \. ¢
a) Foothall b) weight lifting <) hockey d) badminton
Michael crichton is the author of the famous book___ {
a) Das capital b) Death of a city  ¢) Jurassic park d) Death in venice
Who created the character *Sancho Panza' S (
a) George Eliot  b) P.G.Wode House ) Kipling d) Cervantes
Revolver was invented by : , (
a) Bhuswell b) colt c) Mercater d) 1.J.Thomson
Television was invented by~ : (
a) sholes b) shockely ¢) harvey d) J.L.Baird _
Atomic Theory was devised by (
a) Daimler b) Mosely ¢) Dalton d) Otis
Seismograph is used to record___ . +
a) Heart Beats b) Earthquake
¢} The speed of military Aircrafls d) Blood pressure
. Acoustics is a branch of study dealing with (
1) Historical remains b) shells '
¢) Heredity &) sound
ANSWERS
b 2d 3¢ 4b 54 6a Tb &b 9D
10.a 1l.a 12.a 13ib l4b _ 15a l6.a 17.d 18.a
19.c 20.d 21.b 22.d 23.¢ 24.b

25.d
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MATHEMATICS
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PART C (I)
ENGLISH LANGUAGE
M.ltiple Choice Questions. Marks 25x1=25

Mark the part in which the grammatical mistake is On. 113
He asked / that why / he shall / be punished
A B C D
-. One should / be / true 1o his / word
A B C D
3. I'have hunted / and shot myself/ so | know / what it is like
A B C D



10,

21.

Fill in the blanks Qn. No. 04 to 10

He talked so softly that no body could what he said
a. Listen to b. hear ¢. hear to d. listen
He was my hand so tightly that [ could not pull it away
a. holding b. eatching c. scizing d. eaught
You are a why did't you hit him back.
a. afraid man b. modest ¢. gentleman d. coward
The huts were ' ~on fire by some anti social elements
a. opened b. burst c. shot d. set
It is very dangerous to your boss.
a, please b. better . ¢. displease d,call
That rule is applicable every one.
a. to b. for ¢, ahout d. with
The ruling party will have to put its won house order.
a. in b. on c. to d. into
Pick out the correct nouns from the words given Qn. No. 11 to 15
The fishermen returned with a rich haul of large of ish
a. herd b. swarm c. shoal d. heap
He was caught in the of rain because he did not have an umbrella
a. hail b. burst ¢. shower d. fall
The miser had arich ___ of gold
a. hive | b. hoard €. set d. cluster
The Prime Minister was welcomed with garlands and a of flowers.
a. heap b. bouquette ¢. crowd d. swarm
A_ of ticket checking inspectors stopped the bus for checking
a. group b. crowd ¢. squad d. company
“incredible™
a. true b. interesting ¢. unknown d. unbelievable
“supersede” :
a. enforece b. continue ¢. take the place of d. repeal
. “repulsive’™
a. disgusting b. attractive ¢. normal d. reflective
“addiction™ _
a. reminder b. long discourse ¢, total sum d. slave like habit
“abandon™
a. follow b. love C. certain d. forsake
Choose the correct antonym. Qn. No. 21 to 23
“ripe”

2. Young b. raw ¢. bitter d. old
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L ==y out b. admission c. exit d. ﬂut;!:-.'.l';iﬁ
N o= '

L agree b. aceept €. submit d._ help

¥ill in the blanks with the help of the words given in brackets Qn. 24 & 25
BB 7 detect several fl (weakness) in your reasoning

¢ flaus b. flourishes ¢. flashes d. flaws
BB 5 Police wereal (called to a state of readiness)

2 alarmed b, allowed c. alerted d. allocated

ANSWERS

l.e 2.¢ l.ec 4. b 5.d 6.d 7.d g.c O.a
10. 2 | 12, a 13.d- 14.b 15.¢ 16. d 17. ¢ 16.a

9.d  20.d 2I.b 22.¢ 23.b 24.d “25.%e
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